7.3 Trigonometric Substitutions
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Note that the problem can also be solved using the substitution w = 1 — x2.
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Note that the problem can also be solved using the substitution u = xZ + 9.
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B=-3,A4+C="7and B+ D = —3. Solving, weobtain 4 = 5, B = -3, C = 2. and D = 0, so
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I 7.6 Improper Integrals
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41, Working with the indefinite integral / = [ LJ; dx, we use parts with u = lnx and do = x~12dx =
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Ina l/a

lim. = lim ————= = lm (-2,a)=0.
i oy = i, o= (24




